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1. What is the n™ term of the sequence|d. IfA=ixeZ: x* ~1 =0} and
25, 125, 625, —3125, ... ? B={xeZ:x"+x+1=0}, where Z is set of
dn-1 complex numbers, then what is A N B equal
(a) - (=5) ;
Loy ¥
h]‘ i_lﬁﬂn Eﬂ'ir]
L {a) Null set
. 2n=1 gn+1 )
el A=liTe o |zltV8i —1-43i]
@ GeipEtaes Tz
[-1+481 —1-48i
(e} , =
| 4 4
2.  Suppese X = {1, 2, 3, 4} and R is a relation on - 14481 1-43i
X.IR=1((1, 1),(2,2),(3,3),(1,2),(2,1),(2,3), 2 ' 2

i3, 2, then which one of the following is
B.  Consider the following statements for the two

correct ?
non-empty sets A and B :

ia) R is reflexive and symmetric, bul not

transitive 1. ANBUMKNBIUANBI=AUB
(b} R is symmetric and transitive, but not 9 (AU(ANB)I=AUB
reflexive

: A 2 Which of the above statements is/are correct ?
{e} R is reflexive and transitive, but not

symmetric {a} 1only
? 4 o (b) 2only
(d) Ris nmtb&r reflexive nor transitive, but (&) Both1land2
symmetric

{(d) Neither 1 nor 2

6. Let X be a non-empty set and let é'!u,- B, C
be subsets of X. Consider the following
statements ;

1. AcC=iANB ciCnB),
AUB c(CUB)

{a) R is reflexive and symmetric, but not 2. (ANBic(CnBiforallsets B=>AcC

3. A relation R is defined on the set N of natural
numbers as xRy = X2 - dxy + 3_1;2 =0, Then
which one of the following is correct ?

transitive 3. (AUB)c(CUB)forallsetsB=AcC
(6) R is reflexive and transitivé; but mot Which of the above stat;e:n&nla are correct 7
symmaetric (a) 1andZ2only
() R isreflexive, symmetric and transitive (b) 2 and 3 only

(e} 1and3 only

idl R is reflexive, but neither symmetric nor @ 1, 2and3

transitive

EDF-S-DGV (3-A)
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3 2 0 11, The eommon Ttoots of the equations
7. I B=|2 4 0/, then what is adjoint of B 25 405 4 8ga 1 =0and 2204 22008 . 1 200
:._1 1 ﬂ_ are -
equal to ? (a) -Lw
[ o 0 D-| by 1, >
@ |0 0 0 e -1,
=% =k EJ i () w0
0 0 -2]
(b) 0 o0 -1 12, If C(20, n + 2) = {20, n — 2}, then what is n
0o 0 8 J equal to ?
B {a) 8
By 0 2 (b) 10
(c) 0 0 1 () 12
o 0 0 (d) 16

(d) It does not exist
13. There are 10 points in a plane, No three of

8. What are the roots of the equation these points are in a straight line. What is the
|x2 -x-6|=x+27 ' total number of straight lines which can be
(a)l -2.1,4 formed by joining the points 7
by 0,2, 4 (a) 90
(e} 0,1, 4 (hl 45
dy -2,2,4 (e} 40
(d)y 30

01
9. If A —-{ -‘, then the matrix A is a/an
1 0] 14. The equation px2 + gx 4+ r = 0 (where p, g, r, all

(a) Singular matriz are positive) has distinet real roots a and b,
{b}  Involutory matrix Which one of the following is correct ?
(c) Nilpotent matrix fa) a=0 b=0

(b) a<0, be0
i) a=0 b=0

(d) Idempotent matrix

x -8 1 (@) a<0, b>0
10, If |y 1 i |=8+11, then what are the

0 2i =1 15, If A = {4, [&, pi}, then the power set of A is
values of x and y respectively ? ta)  Ady {0} {A), (A, pit
(a} -3,4 (b) 1, (A}, Hi, whhy D0, ul)
(b 3,4 SR

} (e) {0, [, 4h, pl, g 1A, will

(e 3,—-4 )
T (d) (A, B, (A A uh

EDF-S-DGV (5-A)
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(a) 123 # form 1w & Al HAAFR uE el
b 111 &1 el a0
(c) 95 (@) 209
d) 63 (b) 210

() 246

17. ey # ool & sfvean g feedt #@ (d) 242

Hepell & 7 , "
21, [(2x - 3y)° (2x + 8p)%)? & fomm # i #1
(a) 111 e A % ;
b) 123 & o |
a
(e) 125 ® 5
(d) 185 © 8
d) 16
18. AR A ®ife 3 &1 vF deows Hegy B, A
THHI/FEE Ffie (A 22, (1+ax)" % fawam o, veet 7 g2 waw; 1, 12
(@) Y AT e A it 64x* % | n foreeh aar § 2
b A% TR § U
. (h) 9
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Consider the following for the next 02 (two)|19. A is a square matrix of order 3 such that its
items that follow : determinant is 4. What ig the determinant of

its transpose ?
In a school, all the students play at least one of

three indoor games — chess, carrom and table -
tennis. 60 play chess, 0 play table tennis, 48 play (b) 36
carrom, 12 play chess and carrom, 15 play carrom (c) 32
and table tennis, 20 play table tennis and chess. dy 4

[l

. 20. TFrom 6 programmers and 4 typists, an office
16, What can be the minimum number of students

- wants to recruit 5 people. What is the number
in the school

of ways this can be done so as to recruit at

(a) 123 least one typist 7
(by 111 (a) 209
(e} 95 (by 210
(d) 63 (c) 246
{d) 242

17. What can be the maximum number of
21. What is the number of terms in the expansion

students in the school ? 5
of [(2x - 3:;}2 (2x + 3}*}2] ?

{a) 111

b 123 s

(c) 125 sl

(d 135 o B
idy 186

18. If A is an identity matrix of order 3, then its |99 1, the expansion of (1 + ax)”, the first three

inverse (A7) 3 2
terms are respectively 1, 12x and 64x”. What

(a) isequal to null matrix iz o equal to ?
: (a) 6
(b) isegualto A
by 9
is equal to 3A
{c) iseqgua @ o
(d)  does not exist ) 12

EDF-S-DGV 01
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STEYES T ) B AR B ’
2 H i A W B, (3 x 3) g B @
(a) S T AP dﬂtﬁ:4ﬁid&tﬁ=3%l
(hy Tk T wfres w uftfis Fen 0 AP
(¢) qfifiE o=m g APs &

27. det (2AB) foross suet 2 7

(a) 96
(d) ifia s F grs ¥ () 72
. (e} 48
24, TRt AP (p+qid 3 (p— F 91 T TTHA ) e
. T2 28. det (3AB™) fopess s & 7
(a) (2pd 9T % (a) 12
S b) 18
(h)  (2g0d 92 © 36
(¢) pd 98 FH % (d) 48 .
@ @REFAF T T FT 02 (1) Ty & forw fAafeifem o
farerre &difam -
25. A A FIE n > 1 H TF T AT &, A - UF WM wewm W owen f M RO
. 1+ 2i
frefefen & & TR Tw w22 LT

{a)  det{—A)=detA .
29. z I HHE F=E ?

{b} df}t {— ﬂ‘sl:] = L— l}ﬂ detﬁ {a'] 4

(o) deti— A)=—det A by 2
ey 1

(dl deti—-A)l=ndetA :
{d.ll E

26. 25 cosec” x + 86 sec® x T ZFAAH HH AT :
20. = &I HIVIE w1 E 7

7

tal 0O
a) 1

by =
(b} 11 4

R

(eh ! -
(] 120 (el 2
id) 121 d;y =

EDF-S-DGV (8-A)
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28. The numbers 1, 5 and 25 can be three terms | Consider the following for the next 02 {two)
{not necessarily consecutive) of iterms :

Let A and B be (3 x 3) matrices with det A =4
{a} - only one AP

and det B = 3,
{h)  more than one but finite numbers of APs
(e}  infinite number of APs 27. What is det (2AB) equal to?
{d) finite number of GPs (a) . ok

by 72

{c) 48

(d) 36

24, The sum of (p + q)th and (p - q}‘"h terms of an

AP is equal to
28. Whatis det (3AB™D) equal to ?

(a) (Ep}th term (a) 12
B (29" term B 28

fcy 36
() Twice the p™ term By ol

(d} Twice the qth term
Consider the following for the next 02 (fwo)
ifems :

1+21

A complex number is givenbyz = —.
PR

25. If A is a square matrix of order n > 1, then

hich following i ct ?
o sas okt Ioklovrng 1000 29, What is the modulus of 2 7

(a) det(-A)=detA

(a) 4
(e} deti—A)=-—detA @ 1
(d) deti-Al=ndetA 1

{d) 3

26, What 18 the least value of | 30,

What is the principal argument of & 7
25 cosec? x + 36 sec® x ?

(a) O
fa) 1
™
) 11 () 7
120
% @ 3
@ 121
dy =

EDF-5-DGV (9-A)
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sin 34° cos 236° — sin 56° sin 124°
=] HIAT 3d5. BHIHA & ?
coa 28° cos B8° 4 cos 178° sin 208° w %

%? {a) -1
(a) -2 ' (by 0
(by -1
@ 2 () 1
(d) 1 ) 2
32. tan 54° It fhm wehn st Ren w1 www | 9T oA AT 02 (1) vt & ferm el w
29 fareme &ifor
(a) B 0 008 0 78 fom T R fF cos (0 - o) =a, cos (0= P =b
sin 9° — cos 9° 2
() 09— cos”
sin 9° + cos 9°
_ 86. cos («c~ ) o qoem & ¢
(© cos 9° 4 gin 9°
e (@) ab+ |1-a2 |1-b?
() sin 36° ~
cos 36° () ab—1-a2 J1-b?
ST JTE ATt 03 (A1) WAt & fern A W © aJl-b? -bi1-a’
fererrr oo -

2 2
qﬁP=XCDEU‘—YHinH,q:Ksinﬂq.chgﬂ (d) u'Vh_b +b\f1_a

Gﬂ'{p""+4pq+q2=AKH+HY2'§. Tﬁf
87. sin® (0 —P) + 2ab cos (o ~ ) forees aoar & ¢

D<B< E‘ 21
33. EIEFIHHW‘E,’? (a) a4+ b?
@ 3 (b) aZ-b?
w e) b?-a?
8 (@  -(a%+bd
() f
. 88. M sin o + cos o = p B, A cos® (20) TFEH
6 WETR P
34. A HI AEER? @ g
E:i : () p°-1
© 2 (0  pi2-p?
(d) 1 ) pP+1

EDF-S-DGV (10-A)
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831. What is the value of 35. Whal is the value of B 7
sin 34° cos 236° — sin 567 sin 124" @ -1
cos 28° cos 88° + cos 1758 sin 208°
ia) -2 (b} 0
thy -1 (el 1
W = @ 2
id) 1
32. tan H4° can be expressed as Consider the following for the next 02 (fwo)
(a) gin 9° + cog 9° items ;

gin 9° — g=
T b Tt iz given that coz (8 — o) = a, cos (B — ) = h.

gin 9° — ooz 97

(b} -
sin 9% + cog 9°
36. What is cos (¢ — ) equal to ¥
() cos 9° + sin 9°
cos 9° — gin 97 (al ab+ \ﬁ—az u'rl—bz
() sin 36°
cos 367 (b) ab- 1-a? J1-b?
2 2
Consider the following for the next 03 (three) (e} ayl-b® —byl-=a
ifems
. ) g5 aohyflog?
Hp=Xcos0—-Ysin0O,gq=Xsinb8+Ycos 8 ¥
and p®+4pg+q°=AX® + BY?, 002 % 37. What is sin® (et — B) + 2ab cos (¢ — B) equal
to ?

33. What is the value of 68 7
tal .-12 + h2

I
ia) E : ’
= b} a"-b
i(b] =
3 (€} b°-—a*
el 2 i .
4 idy —i(a”+b™)
Y T
(d) B 38, If sin & + cos o = p, then what 1s cos” (2c1)
9
34,  What is the value of A ? aqual o
{a) 4 u PJ
b 3 @ pt-1
w3 ) piA2—pi
(: [
@ pi+1
dy 1

EDF-5-DGY (11-A)
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.14 e \ \
39. smlgﬂrec lg—%aﬂqﬁw%? © |42, qﬁcusA=%%,?ﬁ5m[%jsin[%JﬁﬁlFﬂ
TR 7
{a) =
¢ @ 2
a i)
. 8
by = 5
2 b RE
() T
e m 5
(e) ;—4
(d 0 .
d -
) 32
. -1 2p _11-u:12 1 2%
40. te 2P = ta
R sin 1+p2 7 Taq? 0 1-x2 |48. tan75°+cot 75° I HH FIE ?
B, O x TFesh W 2 7 (a) 2
(thy 4
Gy R4 € 243
1+pg
(d) 443
m 24
1+pgq 4d. cosz 46° cos 47° cos 48° cos 497 cos 50O° ...
cos 135"
pg -
(e Iy EaRici i i
(a) -1
@y 279 () 0
= () 1
(d) 19 ¥
1 1
41. tan B = = 3R ¢t == 8, d @ Eqj =
A tan g it 3% L] ﬂﬁsm2ﬁ=c0539,x_ﬂﬂTD{ﬂ¢:g'a,?ﬁsinﬂ
0T g 7
g foreeh T 2 2
ita} 0 J5 +1
(a) 7
b =
6 45—
h —
4
it
@ 7 JBal
(ed
16
@ = x:
2 (d) V5 -1
16

EDF-S-DGY (12-A)
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1

L =
89, What is the value of ==:iﬂ:LE FEpe¥e
5 4 2
(a) —
b i
(b} 2
) =
{dy 0
2
40. If sin™t 292 - cu$_11—q2 = tan 2X2 ,
l+p l+q 1-x
then what is x equal to ?
@y 2r4
1+pq
by
1+pgq
Pq
(c) —
1+pg.
@ 29
1-pq
41. Iftan 6 = é— and tan ¢ = %, then what is the
value of (8 4+ q) 7
(ad 0
T
by =
B
T
ich —
4
T
d i
{d) B
EDF-5-DGY
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(a) g
(b) %
{c) :2—51
(d) é%
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What is the value of tan 75° + cot 75°7

{a} 2

ihy 4

© 243

(d) 443

What 1z the value

coa 46° cos 47° cos 48° cos 497 cos H0°

fa) -1
{by 0
(el 1

(d) Greater than 1

If sin 26 =cos 30, where

whatis =in 8 equalio?

(a)

fhy, 2ET=

teh

(d}

cos 135 7

D«be %, then
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48. 'ﬂﬁ'ﬂ"ﬂmxg+px+q=ﬂ%@tan 19° 31T | 51. mmﬁmﬁmﬁm
tan 26° #, 1 F=fefgs ¥ 4 S99 = T

29 1. U% @ e miww, Sie Wi,
(a) g-p=1 xcosf+ysinO=p %, ‘T’Cﬁ% {et, 1)
ihy p-g=1 . 3
T O - A~ - S S
d} p+g=3 |umsﬂ+BsinH+p|%|
47. n W A& T AP s wd w1 A 2 fg @pdt@ Zilaamdnm
nin + 1) 8, &1 =97 92 R 2 2
(2) 6 L e e T
b) 8 yaZ +b®
(e} 12
d 20 T FUE H W A wE R 2
48, El+tanu:tan|i)2+{tancx—tan[}]2— (a) Had 1
sechla'vaﬁ
fopder T R 7 (b) A 2
{a} O
by 1 (¢) 182 el
() 2
a5 3 (@ Ad1,AE2

49, Qﬁ p=cosecB—cot B 3R q = (cosec 8 + cot Ei]'_l

2, @ Frafefas # @ #Fa o wd 2 2 52. UF TH x? + y? = a? 1 U SfaT FI 4@ AR

(a) pg=1
N et Us I9 Wi TR | gE A, W x+y=a™
() p+q=]_ ﬁﬂ%lﬁﬁﬂm?ﬂf%?
dl p+q=0
o (a) xg+y2—ax—ay+a2={}
50. Ifc v YT ABCH FW 1:2: 3% 9 8§
&, dt s e R e § § 0 YOREY. (NS N
(a) 1:2:38
(b} g ] '[".5::' Kﬂ+y2+ax+ajf=ﬂ
(o) Lt 58
dy 1:J3:42 {d} x2+}r2+ax+ay—2a2:{]

EDF-S-DGV _ (14-A)
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46. If the roots of the equation X% 4 px+q=0are
tan 19° and tan 26°, then which one of the
following is correct ?

{a} gq-p=1
by p-q=1
{c) p+q=2
d} p+q=3

47.  What is the fourth term of an AP of n terms
whose sum isnin + 1) 7
{a} 6
{b) 8
e} 12
dy 20

48, What is
{1 + tan o tan [5}2 + (tan & — tan H}E -

sec” o sec’ &)
equal to ?
fa) 0O
b1
¢} 2
(d) 4

49, If p = cosec 8 —cot 8 and q = (cosec 0 + cot 0,
then which one of the following is correct 7
fa) pg=1
by p=q
e} p+q=1
id) p+g=0

60. If the angles of a triangle ABC are in the ratio
1:2:3, then the corresponding sides are in
the ratio
fay 1:2:8
by 38:2:1
(€ 1:43:2
@ 1:43:42

EDF-S-DGV
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Consider the following statements ;

I For an equation of a line,
xcos 0 + ysin 0 = p, in normal form, the
length of the perpendicular from the
point (c, ) to the line is

|cos O+ BsinO+p|.

2. The length of the perpendicular from

¥

the point (ct, P) to the line L’E =1 is
a

aw + b - ab

.,Il'aEE + b2

Which of the above statements is/are correct ?

(a) 1 only

(b} 2 only

(e} Both1and2
(d)  Neither 1 nor 2

A cirele is drawn on the chord of a circle
x% + y* = a® as diameter. The chord lics on the
line x + y = a. What is the equation of the
circle 7

(a) x2+y2-ax-ny+nu=ﬂ

2

(b) x +y2-ax-ay={'}

K

(¢ x*+y‘+ax+ay=0

(d) x2+yz+ax+ay-2a2mﬂ
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53. UH dega W Gt fag 1 e g w1 (57. A W@ Sy +dx =1,y =x+ 53 5y + bx =3

AT 3T & 37T I8 T 8 wrmeft &, & b W =g 2
(a) oY 237 I AT F ' @ 1
(b) & a1 = T + (b) 3
(c) ATfieia Hr ereaTd & © 6
(d) A R anieyg e B wgd 4 =
meet % ’

58, 39 W WGl F GHF0 TR T oy = x W TH

54. affEm 2x” — 3y —6 =0 frEfum F@ # 31N (3, 2) ¥ BT ot B 7

() THEA
fa) x-y=5
(b) TH Ta=d
b)) x+¥=5
() U aHg
=1
(d) T e I8 Wy

55. 7 9EET v¥ = dax 3 xF = day WirHd @

59. wWe @ —4=0,8x+y—4=03N
() Y@ y=x B 9 forgedi = v

X + 3y — 4 = 0 U Frget st & ug P

(b) hae qei-fag ™
(c) ﬁﬂ?ﬁ@@ﬁmﬁ?ﬁﬁﬁy.px:nq; (a) Wﬁﬁ@%
G (b) EERIOMT 2
(d) I (4a, 4a) T 4 il
(d) foremang 8

56. T (1, 3) 3R (5, 1), T AA F T THg@ il

2 lmaﬁﬁﬁmyeﬂx+cmﬁﬁlﬁﬁ | ¢ =RT
60. FAx*+y  +dx Ty +12= 0 G y-31& T B

e e 2 .
T U o e s e R 0
{a) 2
fa) 1
by <=2
{ (bl 3
(o) 4 (e) 4
(d -4 dy 7

EDF-S-DGV (16-A)
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53. The sum of the foeal distances of a point on an
ellipse is constant and equal to the
fa) length of minor axis
(b)Y  length of major axis
(e} length of latus rectum
(d) sum of the lengths of semi-major and
semi-minor axes
54, The equation 9xZ ~ :‘af — 6 = 0 represents
(a) acircle
(b} & parabola

(] anellipse

(d) a hyperbola

55. The two parabolas y2 = dax and x* = 4ay
intersect

(a)  attwo poinis on the line y = x

(b}  only at the origin

{¢) at three points one of which lies on

y+x=0

(d)  only at (4a, 4a}

The points (1, 3) and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line y = 2x + ¢, What is the value of
&7

fa) 2
(b
ey 4

dy -4

EDF-S-DGY
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If the lines 3y + dx = 1, vy = x + 5 and
Sy + bx = 3 are concurrent, then what is the
value of b ?

(a) 1
iy 3
e} 6

1
(d) 3

What is the equation of the straight line which
is perpendicular to y = x and passes through
(3,2)?

(a) x-y=5
(b) x+y=5
(€] =x+y=1
d) x-y=1

The straight lines x + y -4 =0,3x+y-4=10
and x 4+ 8y -4 =0 form a triangle, which is
(a) isosceles
(b)  right-angled
(e} equilateral
(d)

scalene

The circle x° + },2 + dx — Ty + 12 = 0, cuts an
intercept on y-axis equal to

fa) 1
by 8
e} 4
dy 7
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61. A2, -3, 3), B(5, -3, — 4) 3 C(2, -3, —2) 3w
arel T S # Fow wE g R 2
(a) (-3,3,-1)
(b)  (3,-3,-1)
el (3, 1,-3
() (~8,-1,-8)
62, MA x2 5y + 22 —6x+ 8y — 102+ 1=07F
e w22
"{a) B
by 2
@ 7
d 3
63, TGS 2x +y+22=90 3T dx -5y -4z=17%

yfmaigT 3 famg (3, 2, 1) @ oG 916t AWAd
1 HHteRT a1 2 7

fa)  10x-2y+22=28

by 10x+ 2y + 2z = 28
(el 10x + 2y - 2z = 28
{d) 10x-2y-2z=24

64, UL TOTE] 4x — 2y + 4z + 9 = 0 3N
Bxu4y+82+21=ﬂﬁﬁ°§a‘=ﬁq‘ﬂ‘ﬁ’m%?

(a) :}
() %
(e) %
(@ Z
EDF-S-DGY
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-8 % e HiEE 77 8 2

a) <1,1,1=>

by =1,0,0=>

e} =<0,1,0>

dy <0,0,1>

aft a =1 -2 +ska B =21+ § -3k
3,9 (b -a).8a + b)fFms wmE g0
(a) 106

(hy -106

(e} 53

(d) -53

afe fagadl A ot B & feufs wRw
3?*2}+ﬁ3ﬂ'{_2?+43—3ﬂ§,ﬂ:‘[£

&+ w1 R0

(a) 14
(b) /29
(e} /43
(d) 53

Ifz vk guRior Bys ABCH, # AC =p B, T
AB . AC + BC . BA + CA . CB e
GUE B 7

(a) p
(b}

P_
{c) %

dy p
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61. The centroid of the triangle with vertices |65. What are the direction cosines of z-axis ?
AI:?‘ _‘35 E:Ii Bl:.ﬁs _'3! — 4:] und 0(2: _31 _2} 15 t'he (a_] < 1’ 1’ 1 =
point
(b} <1,0,0>
(a) (=3,3,-1)
ey =<0,1.0>
(bl (3,-3,-1)
d) <0,0,1>
(e} (3.1,-3)
(d) (-3,-1,-3) ¥ m A A 3 A A A
' 66. Ifa =i-2j+6kand b =2i + j -3k
hen whatis(B — @ ).(32 + b )equal to?
62, What is the radius of the sphere Hienwhetis(h = & JoBa s o
x2+}-2+z2—6x+8§r—lﬂz+1=ﬂ? {a) 108
(a) 5 (b} —1086
(b} 2 (c) H3
e}y 7 (dy -583
d) 3
) 67. If the position vectors of points A and B are
63, Th_u equation of the plane passing through 3']: B 2!5. ’, i: walf 9% 4 43’ ] HE eciriesbiils
the intersection of the planes 2x + ¥ + 22 = 9, o
4x — by — 4z = 1 and the point (3, 2, 1) is then what is the length of AB ?
(a) 10x -2y + 2z =28 (a) 14
(b) 10x + 2y +2z=28 b 29
- led 10x+ 2y —22=128 © Jﬁ
(d) 10x—-2y—-2z=24
d) J53
64. The distance between the parallel planes
-y + 4 G=0and 8x -4y + 82+ 21 =0 ;
fix i S . B 68. If in a right-angled triangle ABC, hypotenuse
= AC = p, then what is
— = — =¥ —= =
(a) 1 AB . AC + BC . BA + CA . CB cqual to?
4
1 (a) ]:a2
(b) — 4
2 (b} Zp
3 2
)y = p
2 (el e
o m
i
(dy - d
i dy p
EDF-3-DGY (19-A)
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69, TRW & =271-63-3k 3M b =41+37-%[72. AW fx) =log (1407, W

& off9 % 107 1 HE (sine) 3 dfi4) + 5f11) - logy, 2 TR TTE B 7
fa)y 0
{a) e
26 (b) 1
(b} 5 e} 2
V26 (dr 4
(el 2
26 73, fix)=in(4x% +1 - x) gm gftwiiee oF weF 1
1 8
(d) 28

{a} Tsh HY Feld

(b) e weE
70. 5 w1 98 A wm g fwww few wRw e

51 w4) b sheemwial 0§ 4 o] | 9 SRENREIREE
wraaq # 2 (d) A = T g G v
fa) 1
74. fix) = log, 10 ZR 9ftwifya e £ A 2
& 2 ) x=>10
e) 3 (h)  x =10 BEHL, x>0
dy 4 el x=10

(d) x-.:lﬁm, x>0

71. x % WM sec’ (tan ! x) o o w0 R 2
3
75. lim w foreer TE 2 7

(a)  9x iy X
ta) 0
by x241
ih) 12
(e} x+1 © 924
(d) x° d) 36

EDF-S-DGV (20-A)



www.prepp.in 'repp

Your Personal Exams Guide

69. The sine of the angle between vectors 72. If flx) =logq (1 + x), then what is
! A =3 A A A 1) —1 2 1to ®
2 =21 -6} -3kand b =41 +3 -k 4(4) + 5R1) —logyp 2 equal to
is ia) 0
1 by 1
{a} = ! (b}
X fe) 2
5
(b)  —— : (d) 4
V26 .
a
(e} e

1 73, A function f defined by fix) = In (1"':{2 +1 — %)

(a) an even function

ib)  an odd function
70, WJ-IM 15 :he v?lue of A {Er whiEh the !.rfctors i v cdd e
3i +4j — k and 21 + &) + 10k are

id) Neither even nor odd function
perpendicular 7

(a} 1

: 74. The domain of the function f defined by
o & fix) =log, 10 is

S (a) x=10

dr 4 (h) x>0 excluding x = 10.

) x=10

(d) x> 0excluding x =1
71. What is the derivative of sec” (tan' x) with
respect to x ?

3

(a) 2x 75. lim M is equal to
20 x?

b x*+1 @ 0

(e} =+1 thy 12

(@ x° 2 =
id) 38

EDF-5-DGYV (21 —A)
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76.

7.

r:ﬂ%%ﬂ,mr%l{ﬂiﬁﬁ%wm
BA%A W YW fir) B | A9 R1) + 12) TR
ERE L

a) 1

(b) 2
¢ 3
d) 4

gfa fix) = 31 8, T fix) fiy) flz) foras e

£2

78.

79.

80.

EDF-5-DGV

{a)
(b)
()
(d}

fix+v+z

fix+y+z+1)
fix+y+z+2)
fix+vy+z+3)

Wi & + 9)x| + 20 =0 % fom awmfas
et il G &

fa) I

(b) ©&H

€ @

@l
(d) =

g fix) = sin (cos x) B, A7 £(x) Toreh awmw 2 2
{a}
(b)
(c)
(d)

cos (cos x)
5in (— sin %)
{#in x) cos {cos x)

{— 8in x) cos [eos x)

B fix) = [Z-x)(x—3) I SHT 8

(0, o)
[0, o)
[2, 3l
(2, 3)

(a)
(b}
{c)
(d)

81.

82,

83.

(22-A)
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Your Personal Exams Guide

Aol HHERIOT %:ms{y-——x}+l EFFEH%

La)

e*lsec (y—x) - tan (y-x)l = ¢

(b)  e"[sec(y—x)+tan(y-x)] =¢
(¢} e'secly—x) tan(y—x)=c¢
(d) e*=csecly—x) tan(y—x)
r
j |sinx —cos x| dx TeFmeh ST & 9
0
a) 0
(b) 2(+2 -1)
@ 242
dy 2(42 +1)
lTﬁ y = a cos 2x + b sin 2x %, qr
dﬁ},
{3) —& +y=0
dx?
2
o 94 T r2y=0
g
(c) d—g 4y =0
d=x
dzy
(d) —— 4+ 4y =0
dx? 4

u1g 1 Uk & M WA H1 v A "o (i
U AHARHR ATUR 3R 2dgaern ol aren)
g # | A e I Aee e
W Y, A e SIS R AT
TRl & =8 & w19 = g 2

{a)
(h)
(e}
(d)

mn+ 2)
m+2):n
1:1

IR | H wIE T
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76. Forr =0, fir) iz the ratio of perimeter to area | 81.
of a circle of radius r. Then f{1) + f(2) is equal
Lo
fa)y 1
(thy 2
ey 3
dy 4
77. If fix)= 3" then fix) fiy) flz) is equal to
) flx+y+z) 82,
bl flx+y+z+1)
ey fHx+vy+z+2)
(dy fix+y+z+3)
78. The number of real roots for the eguation
xz+9|xl +20=0is
(al Zero B3,
bl  One
ic) Two
{(d) Three
79. If fix) = sin (cos x), then [(x) is equal to
(a) cos(cosx)
(b} sin(—sin x)
{¢) {sin x)cos (cos x)
{d) {—sin x} cos (cos x) Bk
80, The domain of the function
flx)= J2-—x)(x—3) is
(a) (0, =)
by [0, =]
el 2, 3]
idl (2, 3)
EDF-3-DGV (23-A)
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The solution of the differential equation
:—i =cosl{y—xl+1i1s

(a) e[sec{y—x)—tan(y-x)]=c
(h) e*[sec{y—x)+tan({y—-x)] =¢
{t) ¢ seciy—x) tan(y—x)=c¢

(d) e =c¢sec(y—x) tan (y —x)

2
J |sin x — cos x| dx isequal to
]

(fa) 0
(b) 2iv2 -1
ey 242

(d) 2(42 + 1

If v = acos 2x + b sin 2x, then

(al %+y=0
(b 3£§+23=ﬂ
(e) %—4:.::(}
{d) $+4}r:[}

A given gquantity of metal is to be cast into a
half cylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the
semicircular ends is

{a) m:lm+2)

by (m+2):m

e} 1:1

id} None of the above
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3 8. forg (4, 2) 8 ¥ = 8x F 7oy gt forms s
85. jusmxcosxdx ormes avm 8 ¢ &2
$ ta) V2
[ﬂ.:' e+ 1 I:"h} E'JE
by e-1 e) 2
(©) e+2 d) 342
id) @
89. y-3& F YE-fag W Y FA At go-freem
T el U B
g6. IR f‘{xh="_2,”-2%,aﬁrr‘{x3 ET:Eo s 4
X +2 (a} x +_\,r“-2xyd—y =0
X
TET R 7
‘ ‘ dy
(b 2 evi syl 20
" 4{_x_+2_} ) XU+ yT+ 2y s
x-2 dv
(el x2—3'2+2xy—:'- =0
TR o
: 4(?{—-2_} o 5 d}r
(d) x" -y —2xy—= =0
dx
(el Xx+2
x—2
%1 4 %) 90. aqaaﬁrmﬂmmﬂfﬁ.+z[ﬂ]2+9y:x%
@ = L dx? dx
— S
el ¥ Fr=feafas  faar $ifhu

1. w¥ae afier & um (fefi) 12

87. Izn{x’?adx former = & 9
9, Feehe At i Fife () 22

{a)  2x{nix)-2x + ¢ 3T Yl W B wAEH TR R Y
b 246 (a) Hae 1
X
(b) e 2
(e} 2xinlx)+c
(¢) 13 2 =i
'[dJ = bi{-!i — 2%+
X (d) Ad 1, T8 2

EDF-S-DGV (24 - A)
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88. The minimum distance from the point (4, 2} to

T
; }'2 = Bx is equal to
85, e " cos x dx is equal to

0

(@) 2
(b) 242
a) e+l
: ey 2
by e-1
(d) 342
ey e+2
89. The differential equation of the system of
@ ¢ circles touching the y-axis at the origin is
{a) 2+ yz— nyﬂ =0
dx
X— WL |
i fix)= , & £ —2 the hat iz f ix} .
. hE= o e® SR (b) x‘+y2+2x}-3—3"=0
X
equal to ¥
8, 2 40 dy
4 e} x"—3y"+2xy— =0
(@) 4(x + 2) dx
x-2
¥
d) x*-y'-2xy=L =0
B = o
4{x—2)
X 42 90, Consider the following in respect of the
(c} x_9 ' differential equation :
[ 2 i '\2
(d) 201+ x) d'; +2Ld_‘?J + Oy =x
l1-x dx dx
1 The degree of the differential equation
is 1.
87. Whatis j In(x?)dx equal to? 2.  The order of the differential- equation
is 2.

SRR Which of the above statements is/are correct ?

i ?{ = {a) 1only
{¢c) Z2xinx)+ec (b) 2 only
(e} Bothland?2
@ 2 _axi
® (d) Neither 1 nor 2

EDF-5-DGV {(25-A)
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91. argwe gHTET -gl+5:u W1 S9H &6l 9491|956, TH y = ¢ sin x I - % o9 FRE ww umy
X ¥
35 (S[9) 1 & 41 & ?
a} ¢
G
fa} x"+y =¢ b %
2 2
(b} x"-v"=¢ {c) 3c
e)  x>+y%=cxy id)  4e
dl x+y=¢
98. IR 5in 0 +cos =42 cos 0 B, @
92, k 1 98 79 1 & Al fix)= ﬁh}:x Kigqﬁ (cos B — sin §) TohE FA@ET 2 7
X =
; ta) —vﬁcusﬂ
x = 09T Hag ST 8 ?
(b) - 2sing
(a) 2
(¢) f2sin0
by 1
id) 2sin0
el =1
@ o 97. U% g9 FSIEH SH 44 cm 8, I T A9 6t
T 22 cm B | Sffer 1 w19 w79 FY T w®n
93. a’x + bly HT T A, &l xy =c’ B, F1R ? &7
484
[a) abe {a) Hcm
{b) Zabe i
(b) %nm
(¢l 3abe 21
id) dabe (e Elcm
21
44
04, I M gy Frm ST R 2 @) < em
= 98. ﬂﬁsinﬁ:—laﬁ'{tanﬁzi%?ﬁﬂﬁ'ﬂ
) r )
& f;a(a}+c 2 V3
o Faylsr ¥ w1 & 7
ih) —
{n{a) {a) HYH
X
(- A by fadftm
infae)
X {C} EEIIEI
d ae
W g (@)
EDF-S-DGV (26-A)
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What is the area of one of the loops between
the curve v = ¢ sin X and x-axis ?

{a) ¢

bl 2Z2e
fed  3e
d)y 4dc

If sinB+cosl= \Ecusﬂ,
(cos ® — sin O) equal to ?

then what is

(a) —A2cosl
(b) — 2sin0
(¢) +2sin0
id) 2sind

In a crcle of diameter 44 ¢m, the length of a
chord 1s 22 cm. What is the length of minor arc
of the chord ?

91. What is the general solution of the differential | 95,
equation dy 42=07
dx ¥
a) =+ }'2 2
b} x*— }rz =
€) =2+ }*2 = oXY
dy m+y=c 96.
92, The value of k which makes
sinx x#0 1
fix)= continuous at x = 0, is
k x=0
(a) 2
hy 1
(e} =1
97.
) o
93, What is the minimum value of a®x + bgy
where xy = 27
{a) abe
(b} 2abc
{¢) 3abe
{d) 4dabc
94. Whatis j gtintal gy equal to ?
ﬂ}l_
i 98,
B g
X
b —— + 0
® fnia) ‘
EK
: —_—
{-L) in{ae) ¢
X
d ae
e Inia) S
EDF-S-DGV (27— A)

{(a) j{-;%l cm
242
by ——
21
121
6 =
/ 21
44
(d - cm
7
; 1 1 ; ;
Ifsin 8 = — = and tan ® = ——, then in which
2 <3

quadrant does 6 lie ?

{a) First
(b} Second
{c}  Third
id) Fourth
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99, 3% 1,2, 3, 4 31T 5 TG Sk o1 Hai 6| 103, vF yga 99 TEnfdEi A, B 3 o = B S 2
fopaft T HEd aAnft o1 gt 8, sfe i frhl T F Bel 0 F wilemand w1

= grgh ot sl 727 @ 2 . 2
(@) 36 2 ofw L # ) afd wh i w A A A
(hy 30 761 &d & 39 °rd 6t wiidemar = 2 e
(c) 24 =1 &1 e smom 2
(d) 12 56
ial éE
100. h 91 #l vH dAR F wF fog A ®, T fF iz
i o e gfior 4 B, 3999 FI0 « 2 @ U by =
fog B, 5t f6 A% d @ B, s whor BE
2 | af2 AB = 2 2, 71 Frafetfigs 1 & w9 v @ 33
e 8 2 03
(d) 32

{al 112II:::t:Jtzji_r—l:u:ui:2 x) = z°
: : 104, Fogeq 9t & U g ) G (SR FE
(h} zzlicntz;r—mt&x}:hz 2 | %% W % 912 79 98 SE § o 39 W
2 wifireRar 741 § T qEt T % s A e
T % e o 0 o il @ 2

1

e h? f_i.:m2 ¥- tan? K=

(d) 72 (tan” - tan® x) = h®
{a)

101, @1 #i v wE ¥ wfewma afts ™ A *
STd A | FGEe 97 % U gah &M I NIl (b) %
TR 7 ”
1 ] T
la) B .
(b Gi‘] AT
oy L 105. v Toaer fiess &1 Fomem T it @y @ A9y
52 TH SR 9 F e M | A fag %
@ = HYHY 2 91 4 T 6 UH A FI Wik F=40
13 30
102, e A o B @ weAd 3@ wEn & 6 @) 2
P(A) = 0-5, P(B) = 0-6 # P(A N B) = 04 B, &4 2
PiA LB ) Toros s 2 2 (b) %
(a) 089 !
(h) 07 @ 7
(c) 05 | ]
(d 03 D 3

EDF-S-DGV (28-A)
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99.

100.

How many three;digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is net allowed ?

(a) 36
(by 30
(e) 24
dy 12
The angle of elevation of a tower of height h

from a point A due South of it is x and from a
point B due East of A is y. If AB = 2, then
which one of the following is correct ?

(a)  h*(cot” y - cot® x) = 2

(h)  2* (cot? y- cot” x} = h?
(c) h? l{ti..mnﬂ:g«'—iz:;ln'3 x) = zﬂ
(d)  7°(tan” ¥ - tan® x) = %

101. From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

1
{B:l E—].
4
(b -=
) 51

1
{c) E
{d —
) 18

102. If A and B are two events such that
PiA) =05, P(B) = 0-6 and P(A N B} = 04, then
whatis PCAUB ) equal to ?

(ay 09
(by 07
(el 05
(dy 03
EDF-S-DGY
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103. A problem is given to three students A, B and

104,

105.

(29-A)

C whose probabilities of solving the problem

are %, g and % respectively, What iz the
probability that the problem will be solved if
they all solve the problem independently ?

29
32

27
32

(a)

(b)
25
32

23
32

(e)

{d)

A pair of fair dice is rolled. What is the
probability that the second dice lands on a
higher value than does the first 7

(a) %
b 3
© {%
@ =

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

(a) %
(b %
{e)" i
@ 3
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106.

107.

108.

af A B, C &9 gt ¥, & wif @ A 9
HeATSA % U H1Y ged &) aifiesan o1 8 7

{(a) PANB)+PEMNCH+PICMNA)

iby PAMN B + PB N C)+ FC N A -

PIAnB N

PANB + BB N G+ PIC N A -
ZRAN BN O

el

(d) PAN B +PFBNC+ CN A -

SEANB NG

gf2 2 = X o1 Y @O B, O 37 d@i gggey
TUTT TR Y
{a) 1

{(b)

Ife P(B) < P(A) B, AT P(B) fopeeh st 8 7

{a) %
(b) %
el % 5
(d) :;
EDF-3-DGY
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109. UH @ (100) Juwii H med 50 g AW IR
e faeed 10 | afe soi e | H 5 ua
foam s & o fil 3% 4 @ fawifm = femn
AT B, A T we H T A e A

110.

{30-A)

T B 7

{a) 45,5

(b)  11-25, 1-25
(¢} 11:25,2'5
(dy 125,25

Afe 21 Feye qrat =i her W 8, 99 39 9
&1 guftsey wesa =1 2 5 129 99 W o6
i, waf 77 far gen 2 f6 arEi 9 e i

1 ITHS 8 @ ¢
(a) %-
(b =
() %
@ <
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106. If A, B, C arc three events, then what is the

107,

108.

probability that at least two of these events
oceur together 7

(a) PAANBI+PBNCH+PICNA)

() PANB +PBNC + PICN A -

PANBN O

PANB +PBNC +PCNA -
2PANBNC)

el

d PANB+PBNC 4+ PCN A -

SPANBNC)

If two variables X and Y are independent, then
what is the correlation coefficient between
them ?

fa) 1

by -1

(e} O

(d)  None of the above

Two independent evenis A and B are such

that P(A U B) = % and P(A N B) = % It

P(B) < P(A}, then what is P(B) equal to ?

1

[ =]
a) 2
1

by =
3

o) l
2

1

dl =
|; G
EDF-5-DGV
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109. The mean of 100 observations is 50 and the

110.

(31-A)

standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively 7

{al 45,5

(b)  11:25, 1-25

(e . 11-25, 25

(dy 125, 25

If two fair dice are rolled then what is the

conditional probability that the first dice lands
on 6 given that the sum of numbers on the
dice is 87

(a) ;-;-
) %
(e} %
(d) ;



www.prepp.in

111.

21 Tl grEl i IS 9§, TeHw T 6
31 Fers T T @, 2 e o7 8, v 6
afi us =7 Ok U1 ¥ Y fer o B | T 9w
&t wifrear w7 € 56 Ze W o S o

=
e
o

{e)

;Ir_n

1
d) =
} 3

112. 7% g # o 00 € fed 4 8 3 we m

EDF-8-DGY

%t # | 3R 2 e Trfee® w1 & it w ¥
aﬁtwmﬁm%t%aﬁgﬁg

S e T o E, o HE AR Y
(a) 3
(b) 4
e 5

(d 6

prepp
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118, 79 % 52 T i vH 7F Y & I w AgEew
w9 W T AT 2 | 3\ W A im0 2
o6 & gt v e Hew F (T ) 7 7

{a) 1
by —

fe)oi—

Ty

(d) 17

114. T U F S AW Fa Tl i IEH 5 ;@
6 F1 T AFerd qET WA & | Hheransti 6
F W@ F a1e 3 Hiw fawert we #

16

{a) '

w|oo

(b)

oo
Lo | =

(e)

[N
oo |

(32-A)
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111.

112,

EDF-5-DGEV

Two symmetric dice flipped with each dice
having two sides painted red, two painted
black, one painted wellow and the other
painted white. What iz the probability that
hoth land on the same colour ?

{a) faﬁ
(b) g
(e f—S
G %

There are n socks in a drawer, of which
3 zocks are red. If 2 of the socks are chosen

randomly and the probability that both

selected socks are red is ; ., then what is the

valueofn ?
{a) 3
thy 4
(¢l 5

dy 6

prepp

Your Personal Exams Guide

113. Two cards are chosen at random from a deck

114,

{33—;&.}'

of 52 playing cards. What is the probability
that both of them have the same value ?

{a)

(b}

(c)

{d)

In eight throws of a die, 5 or 6 iz considered =
success. The mean and standard deviation of
total number of successes is respectively given
by

5 16
{a] SJ E‘.‘._
g8 4
b ==
{h) A
(el i.i
3'3
Wi S
3" 9
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115. 21 9ead A it B 36 veR 3 f5 A oft B [118. 3 1 3f 20 % F= % wft 97 QUi i 3 @
TR ITES & | 478 P(A) = 05 S PB) = 06 o =t e S 2, afwrdt defi s owE

2, a1 P(A|B) 1 OH #1 8 ? ol o
()
A - {a) 9975
1
b = (b) 19975
9
© z (c) 299-25
1
(d) 5 (d) 89925
116. Frerferfigs =emt w fa=n Fifaw llg_wmﬁgﬁmw%%ﬁwﬁgﬁmﬁ

1. °Hl % U gY=4 H 9% Gl 9 o st free S ot € s IO F ¥
famert = i 9T Ted I EAl i Ll ’
2| sfferes @i 2 2

9. UF G w5 % o

TR AT > IS > TEerh (WiS) | Y %
I FeAl W w2 o 4
(a) FA 1 2 .
(b) A 2 @ 3
{(¢) 13w 2gME %
(d) AWML A2 (@) 38 Fwifm 78 e = awa

117. oF &fifm X 3t v % <9 oedey O 06
2 | aefess = Z ot W 39 g 9fonfia @
ﬁz:x+53ﬂTW=§%tzaﬂtw%aﬁa

120. 3z A 3 B2 oA &, 79 A A T A A
U B gfed B9 & wilma s g 2

HeEHEy U w1 R 7 {a) P(A)+P(B)
ok Bl by PAUB)
(b} 02

cd PANB)
(c) 036
(d 06 (d) P(A) P(B)

EDF-5-DGV {34-A4)
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115. A and B are two events such that A and B
are mutually exclusive. If P(A) = 05 and
P(B) = 0-6, then what is the value of P(A|B) ?

1

ta}) =

Y5
1

(hy =
a
2

{ﬂj E

: 1

idy =
3

116. Consider the following statements ;

1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero,

2, Arithmetic mean > Median > Mode for a
symmetrie distribution,

Which of the above statements is/are correct ?

{a) 1aonly

(h} 2 only

(c) Bothland2

(d} Neither 1 nor 2

117. Let the correlation coefficient between X and

Y be 06, Random wariables Z and W are

defined as Z =X + 5 and W = %—.W’hat is the

correlation coefficient between 7 and W ?

(a) 01

b 02

(e} 036

dy 06

EDF-5-DGY
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118. If all the natural numbers between 1 and 20

119.

120,

(35-A)

are multiplied by 3, then what is the variance
of the resulting series 7

(a) 9975

(b} 19975
(e} 29925
(d) 399256

What is the prebability that an interior point
in a circle is closer to the centre than to the
cireumference ?

1

{ ik

i) 7

1

{VF R—

E 2

3

( i

c) 1
id) It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or

event B ?

(a) P(A)+ P(B)
(b) P(AUB)
(e} PANB)
(d}  P(A) P(B)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YT ARE TOLD TO DO 80
T.B.C. : EDF-S-DGV Test Booklet Series

TEST BOOKLET
MATHEMATICS

m—
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECE THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING FAGES OR ITEMS,
ETC. IF SO, GET IT REFLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepaney will render the Answer
Sheet liable for rejection.

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside,

DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions), Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6.  All items earry equal marks.

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instruections sent to you with your
Admission Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheel. You are permitted to
take away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers i
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four allernatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(11) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given

answers happens to be correct and there will be same penalty as above to that question.

{iii}  Tf a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
queslion,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
e A - SR R w39 I % qE 78 WO R
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